Tableaux des Puissances de Dix (G)

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

1000 100 10 000 10

69

66

98

57

99

1000 10 100 10 000

19

87

60

13

46

10 000 100 1000 10

47

51

84

41

97

100 10 000 1000 10

61

26

46

68

55
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Tableaux des Puissances de Dix (G) Solutions

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

X 1000 100 10 000 10
69 69 000 6900 690 000 690
66 66 000 6 600 660 000 660
98 98 000 9800 980 000 980
57 57 000 5700 570000 570
99 99 000 9900 990 000 990
X 1000 10 100 10 000
19 19000 190 1900 190 000
87 87 000 870 8700 870 000
60 60 000 600 6 000 600 000
13 13000 130 1300 130 000
46 46 000 460 4 600 460 000
+ 10 000 100 1 000 10
47 0,0047 0,47 0,047 4,7
51 0,0051 0,51 0,051 5,1
84 0,0084 0,84 0,084 8,4
41 0,0041 0,41 0,041 4,1
97 0,0097 0,97 0,097 9,7
+ 100 10 000 1 000 10
61 0,61 0,0061 0,061 6,1
26 0,26 0,0026 0,026 2,6
46 0,46 0,0046 0,046 4,6
68 0,68 0,0068 0,068 6,8
55 0,55 0,0055 0,055 55
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